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QUESTION 1

Which two Citrix policy setting must a Citrix Engineer enable to apply Quality of Service (QoS) settings to the HDX
protocol? (Choose two.) 

A. Multi-Stream user setting 

B. Legacy graphics mode 

C. HDX Adaptive Transport 

D. Multi-Stream computer setting 

E. Framehawk display channel 

Correct Answer: AD 

 

QUESTION 2

Scenario: A company has locations in three cities: New York, San Francisco and Miami. Each location is connected
over a WAN link. Each location maintains a large number of users who will need to access applications and desktop
resources. 

A Citrix Engineer maintains minimal hardware resources and needs to build a new XenDesktop infrastructure that can
guarantee a reliable network for the users and which requires minimal infrastructure management for the engineer. 

Which deployment should the engineer implement to meet this scenario? 

A. A single XenDesktop Site with three zones (Primary Zone in New York and two Satellite Zones in Miami and San
Francisco), and one SQL database maintained in each zone. 

B. A single XenDesktop Site with three Satellite Zones (New York, Miami and San Francisco), with each zone
maintaining its own Cloud Connector and implementation of the infrastructure within the Citrix Cloud. 

C. A single XenDesktop Site with three zones (Primary Zone in New York and two Satellite Zones in Miami and San
Francisco), and one SQL database maintained in New York. 

D. A single XenDesktop Site with three Satellite Zones (New York, Miami and San Francisco), a single Cloud Connector
in one of the Satellite Zones and implementation of the infrastructure within the Citrix Cloud. 

Correct Answer: B 

 

QUESTION 3

Scenario: A Citrix Engineer needs to configure a baseline Citrix policy for a new user group in the XenApp and
XenDesktop environment. The users are connecting from branch offices over a WAN connection. The Citrix SD-WANs
are supporting each of the WAN connections. The users are connecting to Windows Server 2012 R2 published
desktops. The primary objective of the policies is to utilize the WAN link bandwidth as optimally as possible. 

Which two Citrix policy templates should the engineer use to accomplish this scenario? (Choose two.) 
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A. High Server Scalability 

B. Optimized for CloudBridge 

C. Optimized for WAN-Legacy OS 

D. Optimized for WAN 

E. High Server Scalability-Legacy OS 

Correct Answer: AD 

 

QUESTION 4

Scenario: A Citrix Engineer is designing a Provisioning Services environment based on the following 

environmental factors: 

-A large number of target devices are spread over multiple subnets. 

-The subnets include non-Provisioning Services machines that rely on starting up over the network 

-A security mandate prohibits the use of TFTP. 

-Provisioning Services 7.6 Update 1 is being used to maintain LTSR compliance. 

Which Provisioning Services boot method is appropriate for the target devices? 

A. BDM ISO 

B. DHCP Options 

C. BIOS Embedded 

D. BDM Disk Partition 

Correct Answer: C 

 

QUESTION 5

Scenario: An application that renders locally and creates a large number of temporary files on the local drive is installed
on the Desktop OS machines. A Citrix Engineer creates a vDisk in Private mode with this application installed. The
engineer is in the process of updating a vDisk from Private mode to Standard mode and needs to determine the write
cache type. 

Which cache type would provide the best performance in this scenario? 

A. Cache on server 

B. Cache on server persisted 

C. Cache in device RAM with overflow on hard disk D. Cache on device hard drive 
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Correct Answer: C 
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